
Model #

2906AFGAC
48" Pedestal
Extension Table
Assembly Instructions

For normal household use only. 
 recommended for commercial use.

Congratulations!

Do not climb, sit or stand on this piece of 
furniture.

 Before you begin your project, completely read the 
Assembly Instructions.

 Store the parts: 1~ in their box; 2~ in a dry place;
 3~ in temperatures that range from 40° to 90° F 
(not on a cold and possibly damp cement floor).

 I

 This assembly requires two people.

nspect your furniture periodically for any loose
glue joints, screws or any other problem that might
affect the stability of your furniture. Tighten or repair
as needed.

OOuuttsside ide UU..S. or Canada: S. or Canada: 554411--668877--00221133

MMaaiill: : PP.O.O. . BBoox 28x 28227 • 7 • EEugenugenee, , OOrregon egon 997744002, 2, UU..SS..AA..
FFaax: x: 554411--668877--2200660 • 0 • wwwwww..wwhhiittttieierrwwoooodd..ccomom

Rev. 10/09VN

Production Code:

P.O. Box 2827
Eugene, OR 97402 USA

This fine piece of furniture will make a gorgeous
addition to your home. For the best results, 
read the Assembly Instructions before you begin 
your project.

Service Policy: We will replace any part 
that is defective, missing or damaged during
assembly. Please directly contact Whittier 
Wood Products customer service department
(by phone, fax, mail or email) for a replacement 
part.     

Hours: Our friendly customer service staff 
can be reached Monday-Friday 7:00 a.m. to 
5:00 p.m. (Pacific Time). Or you may leave a 
message 24 hours a day, 7 days a week.

To Order: Provide the complete furniture 
model number (upper left corner of this page), 
the part letter, production code, quantity needed,
the reason for replacement and your full name 
and address along with a telephone number in 
case we need to contact you.    

Parts ship from our Eugene, Oregon factory 
within one or two business days from the time 
we receive your request. Please allow five to
ten business days for delivery. 



2906AFGAC 48" Pedestal Extension Table — Parts List
Before beginning assembly, check that the quantities of parts received match those listed below.

If you need to replace a part, please refer to the following list for name and number.

B — Pedestal
— Qty.1

A  — Top Assembly
— Qty. 1

H  — Top Support
(attached) — Qty. 1

J  — Block #1
(attached) — Qty. 1

K  — Apron Cleat 
(attached) — Qty. 2

Y  — Top Support Cleat 
(attached) — Qty. 2

ZE  — Bracket
(attached) — Qty. 2

I  — Leaf Apron
(attached) — Qty. 2

C — Foot  — Qty. 4 G  — Leaf Assembly — Qty. 1

2907AFGAC

2908AFGAC

X  — Block #2
(attached) — Qty. 1

PART
ITEM

DESCRIPTION QUANTITY PART
ITEM

DESCRIPTION QUANTITY

D 5/16"x3" Lag Bolt  . . . . . . . . . . . . . . . . 4
E 5/16" Flat Washer . . . . . . . . . . . . . . . . . 12
F 3/8" Hex Nut . . . . . . . . . . . . . . . . . . . . . 8
L #8 x 1¾" Pan Head Screw (inserted) . .  40

MB Leaf Hinge (attached) . . . . . . . . . . . . . . . 3
MA Apron Hinge (attached)  . . . . . . . . . . . . 4

N Lever Lock (attached)  . . . . . . . . . . . . . . 4
O Leveler Plate (attached). . . . . . . . . . . . 4
ZH #8 x 5/8" Flat Head Screw (inserted) . .  40
Q 3/8"x4½" Hanger Bolt (inserted) . . . . . . . 8
R Insert Nut (inserted)  . . . . . . . . . . . . . . 4
S Adjustable Glide (attached)  . . . . . . . . 4
T 3/8" Guide Pin (inserted) . . . . . . . . . . . 8

U ½" x 2¼" Wood Dowel (inserted)  . . . . . . .

. . . . 

4
V Slide (installed)  . . . . . . . . . . . . . . . . . . . . . 2 sets

2
2 sets

2 sets

VA #10x1"Oval Head Screw (inserted) . .
VB 420mmToothed slide (attached). . . . 

4VC Rafix Pin (attached) . . . . . . . . . . . . .
W #12 x 1¾" Pan Head Screw (inserted) 16

. . . . . . . . . . . . . . . . ZA Apron Cap (attached) 4
ZB 90° Bracket (attached)  . . . . . . . . . . . . . . 4
ZC #6 x 5/16" Flat Head Screw (inserted). . . 8
ZD #6 x ¾" Brass Flat Head Screw (inserted) 24
ZF #8 x 1-3/16" Flat Head Screw (inserted) . . 12
ZG #6 x 5/8" Philtruss Screw (inserted) . . . . . 26
ZI Brass Pin (inserted) . . . . . . . . . . . . . . . . .

Page 2 — 2906AFGAC — Rev. 10/09



ASSEMBLY INSTRUCTIONS
TOOLS REQUIRED:

Phillips Screwdriver, Mallet or Padded Hammer, 9/16" Wrench, Wood Glue

Page 3 — 2906AFGAC — Rev. 10/09

2906AFGAC 48" Pedestal Extension Table

DOWEL HOLE

Fig. 2

Fig. 2a

Fig. 1a

F E
C

B

Q

2. Turn the Pedestal (B) upside-down so the top end of the pedestal is on the floor. Apply a light film 
of glue into each of the four dowel holes in the Pedestal. See Figure 2a. Insert the Foot (C) 
into the holes on the Pedestal (B). With a damp rag, quickly wipe off any excess glue. The Hanger 
Bolts (Q) should go all the way through the base. Gently tap the foot into place with a padded 
hammer. Fasten in place with one 5/16" Washer (E) and one 3/8" Hex Nut (F). See Figure 2.
Repeat for the other three feet.   

 

Place the Top Assembly (A) upside down on a clean protected surface and remove the Feet (C) 
as seen in Figure 1 and place them off to the side. Unlatch the locks. Turn the top assembly 
right-side up and pull open the table ends to expose the Leaf Assembly (G). Remove the Leaf 
Assembly (G) and set it off to the side. See Figure 1a. Remove the foam now, but when you store 
the leaf, place the foam in between the folded leaves. This will help protect its surface.

1.

G

Fig. 1

G

C

Shipping Straps

A

Leaf Hinge and Lever LockLeaf Hinge 
and Lever 

Lock



Page 4 — 2906AFGAC — Rev. 10/09

Fig. 4b

Fig. 4

G

D

E

Fig. 3

E

D

Fig. 3a

A

S
C

3. Turn the Pedestal right-side up and line up the pre-drilled holes in the Top Assembly
to the pre-drilled holes in the pedestal. Attach using four 5/16"x3" Lag Bolts (D) and four 5/16"
Washers (E) as shown in Figures 3 and 3a. To level the table, turn the Adjustable Glides (S)
on the bottom of each Foot (C).

4. To insert the leaf, flatten out the Leaf Assembly (G) as shown in Figure 4. Flip open the Apron on 
each end of the leaf assembly as in Figure 4a and turn it right-side up. Place it in the open space 
between the table ends and line up the guide pins and holes. Gently push the table ends until 
the leaf fits snugly. See Figure 4b. Close the locks that are underneath the table.

Fig. 4a
G



Fig. 5c

Page 5 — 2906AFGAC — Rev. 10/09

Fig. 5 Fig. 5a

G

5. To remove the leaf, release the locks underneath the table. Gently pull away the table ends until
the guide pins pull out of the holes. Lift out the leaf and place it upside down on a clean 
protected surface. See Figure 5. Push flat the apron on each end of the leaf. See Figure 5a. 
To protect the finish, place foam in between the leaves. Fold the leaf in half as shown in Figure 5b. 
Place the folded leaf in the storage area underneath the table ends and push the ends tightly shut. 
See Figure 5c.

Fig. 5b
G

Place foam here.




